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DEPARTMENTAL EXAMINATIONS

SURVEY DEPARTMENTAL TEST — DEPUTY INSPECTOR OF SURVEY
: AND LAND RECORDS TEST — PAPER -1

(Without Books)

Maximum Time : 2.30 hours Maximum Marks : 100

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qsrer@ i euana ellermsgmer

Read the following instructions carefully before beginning to answer the questions.
aflammés@nés oL wallés Agmkig apen Spasan 2ifle mysmer Seuamons Lig &6, L.

NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender.
by Sifapssar e urdarflar aurisamssafla, @wasCspu Comeuliuger G
umeblem e eSS (EHLD B LEI@LD.

This booklet should not be opened till the Invigilator gives a signal to open it. As
soon as the signal is received you should open the booklet and then proceed to
answer the questions.

Qps deamgdsrglidmear  sanstafluureriien  sigiwd CupesHE wsaanm Spasmg.
sarsrafluunert eflemssn@inlmear niugne aiwd salssea e elamsdsn@Lllamear Aphs
eflenweflés Agmrugerd.

1. This question booklet contains 100 number of objective type questions. Prior to attempting to

' answer, the candidate is requested to check whether all questions are there and ensure that
there are no blank pages in the question booklet. In case, if any defect is noticed in the
question paper, it shall be reported to the Invigilator immediately, within first
10_minutes after which no request will be entertained. '
Qeueilenrggrer 100 Gamargd cuems cflamssmer QaravLg. oNamariugmiser el waflss
Qi@ apetr, sllamgsrafler erevam elamés@sb @b Quppdearareur aeaumsyw, gCsaib S
ussnser /| ellamsser FHLLLLMoD efGu@erataneur eratu@swd sflunisss Cararereyw.
eflammsgrafier gGsaib Gon @mudar elamgsrenet Qupn Ger USEH L RSERESGT D
sarsrasfluurerfiLb Gsfleflss Caam®n. <isnE UnE Osfddssiuin Carfsmasd ggb ghms
QameTerLL T Lrg).

2.  Answers all questions. All questions carry equal marks.
Simansg damss@Epsen elomweaflss CauamrBHb. Dmass eHNamesend swwrar wHUQUaTEET
Csrearr_eney.
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3. Candidate must write his Register Number in the space provided on the top right side of this
booklet alone. Do not write anything else on the Question Booklet.
elanamriiugmyfla ufHQeiameanar Geedamsgrafiar Cud awag LEsFEL SiFDEsE padsILC [HeTer
BLéda erps Cauam@id. eflamtggrailed GCoum erengyid eT(PSF Jal Tg).

4.  The sheet before the last page of the question booklet shall be used for any rough work.
elemgsrefien seoL8 LEs5ADE pen usssSla rough work arpd LrTss e LGWNESEs CanarereyD.

5. (a) Each question comprises of four responses i.e. (A), (B), (C) and (D). Candidate shall select
only one correct response. In case, if the candidate feels that there are more than one
correct response, shade the response which he considers is the best.

(b) In any case, a candidate shall choose only one response for each question.

(¢) If more than one answer is shaded for a question, the answer will be treated as
wrong and no mark will be given for that question.

(d) The total marks will depend on the total number of correct responses marked in the
OMR answer sheet. (For this purpose, only one shaded circle for a question will be taken
into account for awarding mark)

(a) gaQarm damedpen (A), B), (C), (D) eear prang eleLser GasrhEsuul(BHareng.
amemriugmT Sl gCseyb e sflwrear el amws Gy deww Cauam(Hib. RAMISES
Cupul L sflwrer el ser g elameilng @@mULsns sndamd, Seuphd aeslaL Was
sflwreng eran &msIdADiaGerT, eusilenamw Flipell @ sriL Gougm@BLb.

(b) ereuaumdimnleyid, e elemmelh@ ¢Cr @@ elaLamws srar CaihbsHéEs Caamm(Hb.

© e deamdpg gamée CopullL alLhsdd oL walssiulymbsred eueiamL
saupragns smaluUl B, sdadarmeipE wHiCuer euphisliLL T L TE.

(d) OMR eleorg srafldr Ghldsiu L efluren elaLsamer Qurpsg, Qwrgg wHLCLG@TSET
auPRELIURD (@ dlamalne am el Lo (i) HpdlL el w GG wHubluem
RS SaTsSld aT(H5gIé QEmeareT iL(D).

6. Do not mark the answers in the Question Booklet.
Aemggrafle elenL_samars GHLINLE saL_mg.

=]

Candidate shall not remove or tear off any sheet from this question booklet. During the
examination he is not allowed to take the question booklet out of the examination hall. Only
after the examination is over, he shall be allowed to take the question booklet.

Nememriugryi, elamssnailen abs @ LsssmsUD, FsCaur ooy HPssCar saLng. Csiay
oL Qumib Gurg, eleamgsreaer Coia dnlsamzed (B CaualCu aBss s aind SaLwg.
Caitey ighs WenanGy eflanmssrenar 6T(HSgIF Code igiwdasuuBeau.

8.  Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide.

Cupsar,.  ifleyemrsaied gCsan Bpuu@Couramd Csieammeamud aH&GD sarLamar /
BLGUly S5 2 aremns Crfl(Hib.

9. In case of doubt, English version is the final.
eflanmésafiler sCasi0 L6, 2 mde auigeld Qarsasuul_@erar ellamasGar @midluimeais.
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1.

Total Station used for

(A) capturing picture of the street
(B) capturing picture of the town
(C) capturing picture of the village

\AD) measure angle and distance simultaneously

GLmed euGLagar s(mell LWL (Heug)

@A) Qameilen uLgeng Yig55815E

(B) perdlen L@z Gy iLEHES

C) Armosdler UL 19455

(D) Csnemrd LHMIL MTSms @Gy FOWLISSHED Sj6Tés

Total station calculate the horizontal distance by
(A) using tapes

(B) using chain and cross-staff

(C) using offset poles

wAD) using electromagnetic waves

G e evGLeyen seTwrer horizontal grrseng ereueunm seawnfléESng)?
(A) Crienu Lweru@sE

(B) smdled wpmib Syrevmiemu umai;tu@g_'r)ﬁ

(C) offset poles ewis uweTLHSS

D) WVenanps semwsmer Lie B

The wave or pulses transmitted from Total station 1s
A) X-ray (B) Y-ray
(C) ultra red \AD) infrared

e avCLager smeiludalmbg QeuafliLBD SiamaseT
(A) X-ray (B) Y-ray
(C) Geuefliym sdlisar (D) 2l yp sdiser

088/DD/19
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4. In reflecteries mode total station using by
(A) gamma rays (B) god’s particle
(C) X-ray J(D) red laser
ﬂugﬁ]ueﬁ]ﬂune’m Qaoens eems GLm® evCLegen &smell —— <pé 2 LGumsL
BICH= R '
(A) smorsdliser (B)_ STL_GV LIMTlq &60
(C) X-Gr (D) Seuy Ceosrr

5. Using Prism whether the “Prism constant” is’essential

V) Yes B) No

(C) Partially yes (D) None of these

Gflevd vwerBsgn Gurg) Gflellb sremevLe . Siauélur?
A <o : B) gaoma
(C) uvEduera) b (D) GupQsgrarar ggie bldena

6. Write the abbreviation of “LCD”
(A) lipid crystal display (B) liquid crystal display
(C) liquid crystal dispose ,/‘D) liquid clear display

“LCD” erermugen cAfeuméstb

A) NG Aflevé e 9Ger B) A&sw HiblevL e 1gevGer
(C) syl dfleved igavGumev (D) swL Heflwim gev9Ger
7. In Total station how many control panel are there
@ 1 VB 2
€ 3 (D) 4

GLré avCLagen smaluile aréssamen s (HULTE panel o drarg?
[AY -1 B) 2
€ 3 (D) 4

088/DD/19 ' 4



8. In Total Station the following battery was not used
(A)  Nickel metal hydride (Nimh) (B) Nickel cadmium (Nicad)
(C) Lithium-ion batteries AD) Everedy batteries

CLmieb avGLagen smeiluiled Wemeaumb erbs CuL LA LwaTLESSILReudoaman?
(A)  Hlsse Qwrd evanlar® (Nimh) (B) Hlése smlwibd (Nicad)

(€C)  lgdwd sywes GuLL fav D) ey Gul fev

9 Write the abbreviation of “PCMCIA”
4A) peréonal computer memory card international association
(B) private committee memory card and international association
(C) personal committee memory card international association

(D) personal computer membrane card international association

“PCMCIA” erenusen eflflauméaid

(A)  ufseared sblw LT Quwfl smi( Qe iCraseare <GCamed Cueser
B)  GerCar s 1 Guowf s @er_iGpaganed CanaiGuager
(C) uigare s g Qwwh &ri@ GearTCreyarsd 2CerelCuLiayen

(D) uisened LKL LT QuburGrer s @ e iGhagere =iGsmelGuaust

10.  The Great trigonometrical survey of India was Completed by
V4 1870 (B) 1872
(C) 1875 (D) 1770

@pdw Hle seraes giapuier Caflu wpéCarar fle sierana 1pigeybn 2peTH
(4) 1870 - (B) 1872
(C) 1875 (D) 1770

088/DD/19
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11.

12.

13..

14.

- o
Write the abbreviation of “DMS”

JA)  data model structure (B) datum model structure

(C) data measurement structure (D) datum measurement structure

“DMS” e eflfMleungaid

(A Cior LOTL6d GVL_T&HEIT (B) CGuliibwreé evL_g&erm

(C) G Qar@Qwern_ eoL_pé&e (D) Cuiiib Quarbwer_ euL_rsgT

The number of segment involved in GPS survey?

@A) 2 viB 3

e 4 D) 5

GPS #rGauudev 2_drer segment saflen crawreantlsans

A 2 (B) 3

(). -4 D 5

To centering the Bubble using By the following adjustment in Theodolite survey
\AA) leveling screws L AB) ) stylus pen

(C) handle fixing screws (D) “operation keys

®WIp (Bubble) g enwvwitiu@sgiaisne erans sNQsiw LwaLBES Calam@ib?

A)  Qeveuslii Sp@sar (B) evenL_een Guemm

(C) Gaperige 9560k §mEser D) <Grager &

In Topcon Total Station the angular accuracy is

(A) 0 second VvAB) 1 second
(C) 2 second (D) ten second

Lrisen GLmed evCLgerr smailuier Cament &6l G TaIaIETE?
(A) O Qssen’ (B) 1Qssar’
(C) 2Qssean. (D) uss Qesen’

088/DD/19 6



®
15.  Write the abbreviation of “ROBOTIC”
-\/‘A) Robotic operated total station
(B) Remote organized total station
(C)  Revised organized total station

(D) Remote original total station

“ROBOTIC” arémsein eflfleurdsasid

(A) _anGurrmrés 2 UGTL GLmd evCLaen
B) MAGwM. wyfsmarev® GLrLd oG sar
(C)  Aaveusv(® By isamenav(d GCLm_e evGLgen

D) AGwm eflgdlerey CLm_éb evCLger

16. The Constellation of GPS is
(A) app 36000 k.m (B) app 30000 k.m
VvXO)  app 20000 k.m (D) app 30200 k.m

GPS & plsdl7s Hmetn DADIDHS|ETETE).
(A) app 36000 k.m (B) app 30000 k.m
(C) app 20000 k.m (D) app 30200 k.m

17.  The angular accuracy of the total station varies from instrument to instrument
(A) from 1 to 20 seconds (B) 1 tob5 seconds
40) from 1 to 10 seconds (D) 1 to 40 seconds

GLme evCLageaflar Camans geeallw geameio (accuracy) s(medl&E &meflé@ rmuGLb.
(A 1to 20 Qpmgaer B) 1 to 5 Apmyadr
(C)  1to 10 Qpmgser (D) 1 to 40 Gprgsar '

7 088/DD/19
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18. Stamp issued as Great Trigometrical Survey
(A)  28.08.2004 (B) 28.09.2004
(C) 28.07.2004 " AAD) 28.06.2004

Caflw apéCaman oi¢hed efdee QeuafluiflLulL e
(A)  28.08.2004 (B) 28.09.2004
(C)  28.07.2004 (D) 28.06.2004

19. In the total station what are the settings required before start survey
(A) Centering only ' ~ (B) Levelingonly .
(C) Removal of parallax 4D) All the above

CLmé evCLayen smeduiemans Qaran® Hlo seramey QAgrkhiEGper Goameuwimer Setting

ereuol curenTenT ?
A  evwlLBFHSO WL (HID (B) swerL(s8156 WL (HWD
(C) uMyesEmav &HDISHD (D) Cupnleranar TSSO

90. In GPS instrument the cursor will show the message memory fill cannot survey
what it does mean

(A) an abnormality has occurted in the internal communications
(B) an abnormality has occurred in external communications

\AC) there is little available capacity in internal memory and surveying cannot be carried
out

(D) an abnormality has occurred in cf-card

GPS smeuden sievit <yang “memory full cannot survey ™ érer Qalflerws sneinIsgTe

Siger GLmmer

(A) e dremmihg QsrLiiLsalld siETSTI G HlabbieTang

(B) Qeuell Qsriiseflé) Semsryaud HaphsieTars

(C) deerey dpen Aflg LLEWL Sl &665 SigLUFTG L aTaTg) T Sierenes Gl
Pig Mg

(D) CF anmimged sigmgmyentid gpul(Hdreng

088/DD/19 8



21.

22.

23. .

In TOPCON GPS instrument which frequency will be received?

(A)
©)

L-1/L-2 code WVAB) L-1/C-A code
glonass L-1/L-2 code (D) 40L-1

. TOPCON GPS smefiluded erégsemnau oidlibleuemmaamer ehmiés C&mem(EsLn?

(A)
(©)

L-1/L-2 code (B) L-1/C-A code
glonass L-1/L-2 code (D) 40L-1

Write the abbreviation for “GNSS”

(A)
(B)

wAO)
(D)

global positioning system
glonass
global navigation satellite system

group navigation satellite system

“GNSS” eremuger el flaumdsid

(A)
(B)
(©)
D)

@A)
©)

GGermue Quradlagefln fevL b
&lermemmany

@&CarmLied Ggaﬁ@ams’o‘r Fmligeneul FavLLd
Gl CredCsagen smigmal. SevL tb

In Total station instrument the symbol “S.P” what does it mean

Special Key (B) Specific Key
Stylus Key A_D) Space Key

GLme evGLager smailuller “S.P” eramuidlem GlLimmer

(A)
©

avGuse & ' B) ewGufNs &

GUENL_606n & D) ewCuev &

088/DD/19
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24. In Topcon total station instrument when we press * Key the cursor will shows
“NP/P” what does it represent?

(A) neo-prism/prism switching icon
\AB) non-prism/prism sw'itchin—g 1con

(C)  natural-prism/prism switching icon

(D) nodal-prism/prism switching icon

Lrigen GLm_ed evGLagen smaiuller “ * 7 eremm Key enws mmbd Press Qaiisred Cgremmin
“NP/P” aréip er(pbg) aTenss @MISSms:?

A)  HCwr-Gfledb/Gflevbd avedll & geme

(B) prem-GQfledin/Gfeud evelll Sk mamer

(C) Gplare-Gfladin/Gfevib dvelil &k gamer

(D)  GCmm_e-1Gfedlb/Gfleuvid evell & gamer

25. The minimum leveling level in Topcon Total station in X & Y axis is
(A) X=20;Y=10 - VB) X=10; Y=10
(C) X=0;Y=0 D) X=1;Y=1

crugsrer Gumiid avGleagar smelluie X & Y si5fld gopss ules level ar siarey

GTeucueTay?
A) X=20; Y=10 (B) X=10; Y=10
(€C) X=0;Y=0 D) X=1;Y=1

26. The addition of laser plummet in Total station instrument used for
(A) toleveling the instrument onto the measurement point
(B) to leveling the instrument onto the instrument point
W) to center the instrument on to the measurement point
(D) to observe the instrument in night vision |

Cm_e avCLager smaufer Cevam el el Gemliug) ergem LWeTLIML 1q H&TE?
Q)  semeyliyerefl&ECanu smeilanw soaIBES

B) smaluler yarafl&Canu smelaw emwwWiILIHSS

©) élérmuummﬂé;(gﬁmu smedlenw enowItIL(HES :

D)  @reflgib smeflenw LweTURSS 2 ICHTE Qe -

088/DD/19 10



27.  In the Total station instrument in fine mode what is the normal distance measuring
18
(A) 0.1lmm or Imm \AB) 0.2mm or 2mm
(C) 0.0lmm or 0.1mm (D) 0.02mm or 0.2mm
Fine mode -6 2_erar GLm_e) 6vCL_agar s(medudlar srgmyea gnysslen Siene]
(A) 0.1mm or Imm (B) 0.Z2Zmm or 2mm
(C) 0.0lmm or 0.1mm (D) 0.02mm or 0.2mm
28. IN forming the “Primary control point” the accuracy level requirement is
(A)  1:25000 VviB) 1:100000
(C) 1:10000 (D) 1:1000
<y 7bu Hlevey LGB Larafuile gdaflwuwrer eoaumiseE Comaiwireng) erg?
(A) 1:25000 (B) 1:100000
(C)  1:10000 | (D) 1:1000
29. Today’s modern survey the instrument used to survey -village main circuit 1s
\A‘X) electronic total station (B) everest theodolite

(C) transit theodolite - (D) prismatic campass

spare peiar fla siarameuuded Aymngdear main circuit g oierés LweaLHL SHed
(A)  eesgreils GLm L e quGLger B) eau@ravl HCwm_ane

(©C)  grmewediL HCwim_enel D) WGOfleviomg s smbUG

11 088/DD/19
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30. The defect of simple triangulation system 1is
(A) measurement are not accurate
(B) taken angle are not accurate
sAC) combined map projection was not possible it affect cumulative effect

(D) contours are not accurate

sngmyen p&EGaTean wpapuiler o arar Gamnum(

(A)  sereysEr gleedlions @ HESTE

B) a@ssuul L Caramd goalwbrs @ mEsng)

C) gomdoarss Gol LArmysayen srsduifldme =g cumulative effect urrﬁé;@a.b
(D) sanL_riser geelwuwnns Q(mEsTg) ' |

31. In present normal cadastral survey which of the following instrument used for
survey purpose

(A) theodolite. \AB) chain and cross staff
(C) prismatic campass (D) off set pole

spCungetar  sngmren  sLtevl g &Gaude Gareumbd eps smel Hle  seTea

Lwerumig D@ 2 seydlmg) ?
A) SCwr el (B) smdled wpmib HymevLmLs
(C) YfMevCGoligd smbuew (D) <«uds’ Cume

32. Compare with Theodolite, the total station, which is included the following

(A)  evm | Vv IB) edm

(C) chain (D) cross -staff

HCwm el @uARDLCUrs, GLT Léd aGLagar Gaeumaaapis abs UGS

2 _amemL_&dlwig)?
(A) evm (B) edm
(C) smdled ' (D) &ygmeviLml

088!_DD1'19 12



33. The measurement of slopes measured using the following methods?

v1A) - Stepping (B) Punganoor
(C) Simple triangulation (D) Ray system

EMUGUTET @)L MIGEET eT&EE 6Ths (Lpenm L6 (HSS0LHE ng)?

Q)  LysEL B Yo . B) ynsgni
(C)  smgmren wp&Gamant pepn (D) Grwenp

34. While we use the GPS instrument the ‘sky plot’ represent
\AA) display the satellite status '
(B) display distance between satellite
(C) display the time of the instrument
(D) display temp. of the instrument

GPS smeilenw nwaru(psgnCurg ‘sky plot’ erenug) erenss GH&Sms;.
(A). Qswpens Caraflen Hlanaanw

(B) Q&m@mﬁ@&;ﬁ@&@é&é}ml_@mmnm FITHES

©) smedber Coroms

D) smeiullen Geuli Hlenewenw

35. While we use the GPS instrument the symbol comes in the cursor represent
\/‘A) remaining capacity of battery-1
(B) remaining capacity of battery-2
(C) remaining capacity of battery-1 and 2
(D) remaining capacity of battery is half

GPS smeflow wwearuRsgnbCurg srevflalmbs aumdn e wrer Saenid Tanss
@Dééng? ' -

(A)  CGul M 1-érergpdlu Hper

(B) Guilimf 2-anergrflw $lpen

(C)  Guioflwpyb 2-6r ergplu Fpen

D)  eesdlyerer G LMulded Hpefer siemey L

13 088/DD/19
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36. The data storage in GPS instrument is
(A) batteries B cfcard
(C) memory card (D) sim card -

GPS smeiluiler srayser ugleusons LweTUHieug) 6Tg)

A) Guiod B) cf sni@ser
(C) Gwwfl & D) &Aw srr®

37. In GPS instrument the following tool is not in used
(A) Dbatteries (B) cf card
(C) ethernet port AD) prism

GPS smedufer Qemeu(midp genm LwaTLRSSLILG S daa?
A) Guirf B) cf sm@asar
(C) mssr@pCumi (D) Gfevid

‘ 38. In TOPCON GPS the antenna will be used is .
(A) CG-A-1 antenna AB) PG-A-1 antenna
(C) DG-A-1 antenna (D) FG-A-1 antenna

TOPCON GPS smefuder LwamiBssriu®n <2, e 6rs)?
A) CG-A-1 gyanQrem (B) PG-A-1 gyan@Lanm
(C) DG-A-1 gyenGLemm (D) FG-A-1 syen@Lenm

39. In compartment for batteries in TOPCON GPS is

@ 1 wvAB) 2
© 3 D) 4

- TOPCON GPS s@maeflufler Gui L& @Ehésmen SennaEer erésame?
(A -1 B) 2
©) 3 (D) 4

088/DD/19 14




40.  Write the abbreviation of “CF” card _
(A) clear flash card (B) cloud flash card
\AC) compact flash card (D) creative flash card

CF erenmugen eflfleundaid
Q)  deflwi Lerney i) (B) sereyl Qerrmey smir(d
(C)  smbursl Gertreay & (D) dfGwgen Qerrmey s

41. The type of traverse is?

vy 2 B) 3
© 4 D) 5

I JTEUTED CTHSEME eUanELILIHID?
_(A) 2 - ®B) 3
© 4 D)

42.  Today’s survey and boundary act was implemented on which year?

A) 1988 \48) 1923

(C) 1925 (D) 1886

goCGungarar  floo  oeremeu  wHMID . TO@OSE  FLLD  ahs UGS mbS

SjpOUBSSIUL L &)?
(A) 1988 (B) 1923
(C) 1925 - (D) 1886

43. When we set up primary control point” what is the observation time for more than

80 k.m?
(A) 12 hours (B) 4 to 6 hours
AC) 72 hours _ (D) 2 hours

27U @ Grme Lmder semwsEbAunipg 80 8.5 <ifls s1sdhe e erer observation
time eréuauere,?

A) 12 pefliGryw (B) 4 apsed 6 wawllGriybd
(C) 72 wexliGryd : (D) 2 waliCriyd

15 . 088/DD/19
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44. Which is the “elevation of mask” angle we set during GPS process?

\4A) 15 B) 20

© 25 (D) 30

GPS process-ar Qurpg eredlCouager <y, wrevd GCamenTld ereueueney?
A) 15 A5 ' B) 20
©) 25 (D) 30

45.  Write the abbreviation of “SA”? '
(A) Severe Availability \4]3) Secure Availability
(C) Simple Availability (D) Selective Availability

“SA” erauigen eflfleunésid eremen? _
4) felwi semeuaifafliiiy (B) Qeswt siensueiGaflig
(C) Awler si@mauGafliig : (D) Geosiy e siemeueifafliy

46. Write the abbreviation of “RMS’?
ﬂA) Root Mean Square (B) Reverse Mean Square
(C) Reverve Mean Square (D) Review Mean Square

“RMS” Grsh'rugss&f A Meundsd erevre?
A) e Ber cvQamu (B) Meurmev e evG&muim

(C) Meuireu e av@&EmwIT : (D) Meuy, Bar ev@amu

47. In which year the satellite for GPS purpose was started to launch?

A) 1972 ‘ vAiB) 1973
(C) 1974 (D) 1975

“GPS” uwenun’ g hans Qewhens Csmer erel Qg,rrué:esﬁ UL QLD 6T8;?
A 1972 (B) 1973
(C) 1974 . (D) 1975

088/DD/19 | 16



48. When we observe in GPS machine the minimum requirement of satellite required to
give good result 1s? '

VAL 4 ®) 2
© 3 D) 1

“‘GPS” Qupdlrgmss Qsman( ars@LOUNgG, Boo uod dardss Csameuwmer
G@nBFIULFD Q(HéEs Ceuamyw ewunamsds CaraTsar ergganer?

(a) 4 B) 2

€ 3 D) 1

49. The following “symbol” in village map denotes A
(A) bi-junction | (B) khandam
40) tri-junction (D) field stone

\Getreu(mHid sjenL_wimer Hevranid, Hmo euenyL s eranss GMsSng A ?
A)  @u-grse  (B) samb

©) éspdly D) flo yemenecu se

50.  Write the abbreviation of “IRSS”?
AA) International Remote Sensing System
(B) Indian Remote Sensing System
(C) Indiana Remote Sensing System

(D) Indonesia Remote Sensing System

“IRSS” eremuigen eflfleunsaid eremen?

A)  @eniGragare fGom . Qsendlnis fevL b
B) @amgqwen NG Qeendln fAevLb

©) @emgwranm AGLM. Ggendl fevLLbd

D) GpCasrGanflm AGWLm Qeeardli HevLLb

17 088/DD/19
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51. The total Station instrument used for
MA) measure angle and distance

(C) to measure distance only

G L e evGLager el eTan@ LweTUES NS ?

(A) Carenrd LHMID HITHMS DeTHS

(C) smsms LLHL aT6s

(B)
(D)

(B)

D)

to measure leveling

to measure angle only

L L UU(SGIS0 SiaTés

Garentéans L (HLD jeTéHs

52. WGS -84 Values are given by which country satellite?

(A) India

. Vo) Usa

®B)
D)

Canada

Russia

WGS -84 wdlliyser arhs BmL_ig 6 Qewnenss Carer eupmi@GSng)?

(A)  @pHwr
(C) < Qufést

53. EO defines
‘4A) Exterior Orientation

(C) Expected Object
EO eranugen eflfeungsid

A) Geuefilyp oewey

©O) edrurtssiiuc L Qumrpar

088/DD/19
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(B)
(D)

(B)

o)

B)
D)

SHouTL_T

JOSLIT

Extension Object

Extra Orbit

Bl tul L Qumger

S sILgTer HOMIULTES



54.

55.

56.

)

RMSE means

(A) Raise Meet Satellite Extension B)
\40) Root Mean Square Error : (D)

RMSE erenmugen Qummar

A)  Qniev B er_gome asevbgngen  (B)

(C)  epl Bew evQamuit gy (D)

DEM denotes

(A) Desk EIiminate Model &)

(C) Dark Elevation Method (D)

DEM gretuger eflfleungsid

(A) Qrevs ereOCGa_LiT m_ed (B)

(C) L& ereflGougetr QuoggL (D)

LRMC denotes

Land Record Management Centre
(B) Light Removable Method Cell

(C) Laght Reflected Model Cell

(D) Land Rectified Model Committee

LRMC -én eflfleungsid

(A) Caean Qréssn® CuwCarmQuan . Qeer i
(B) ael flepander Guogsl Qe

(€C) ool ALQersLL b Qg

(D) Coerrl Grsgeu@ e slliy

19

Round Mean Socio Error

Root Model Squeeze Extension

geyesrL_ e CamMGuir ariym

HL LOMTL_G) GLSWLEN 6TH6 blL_eirgem

Digital Elevation Model
Diognal Electric Method

g glL_6b erellGougenr LomL_eb

anLwisened erasLiflg GlossL

088/DD/19
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57. To check the accuracy of the Primary and Secondary GCPs established using
(A)  ETS . (B) Base point
(C) Rover viD) GPS

CsmomeilssiulL. g Hlae woHmD _(@r,rs&rrl_rrm flevey seprsslHuurl(® yeraflsafler

Foallugang —— 08 Garam(® sflunissemib.
(A @.y.erev (B) <nguinenL Lerefl
(©) CGpraurt (D) .9.6760 sHed
58. The ——— of the PCPs, SCPs and TCPs should be compiled and printed out as
the Control Point List showing Point ID, Northing, Easting and Height.
(A) Line _ (B) Derivation

(C) Diversion 4)) Co-ordinates

sLOUUTL® yeraflseflar auflensts Ll gwerarg umier ID, aupée, &psE whmib 2 wijbd
g dweupern sr_@bugurs PCP-sger SCP-gser wpmn TCP-ssafler
Pradmanss UL [ iFgg SstuBdaan. ' '

&)  Garp ®) Siay

(C) wmpUuTMs - (D) sEsgmmRiseT

59. Ideally old stones/marks have to be identified on ground in respect of every FMS,
Village tri-junctions which are at present marked with local ground co-ordinates

have to be converted to —————— co-ordinates.
(A) WGS 84 vB) Everest Ellipsoid

(C) Everest Mountain (D) WGS 94

Ceratens FHlwins uepw sHser /| Ghlsdr dwern, galenm Lol sSlemers Qasrrs&oT@Lb
Llllbler e wmend sramiiu@demear. sHCUNE o dtenT Hlo  EE  HITRSETTS

GOSSULIL Iy (&G Sy pFanhdeer ——— FasgRIsemTs rHoLLL Ceum®ib
(A) WGS 84 : - (B) eauevl eredllismi(

(C) ereuyevL QuoeTeiT anL_eir (D) WGS 94 i

088/DD/19 o 20



60.

6l.

L

There are software open source and proprietary softwares which do the mosaicing

Some are Bently Geo pubilsher, Kerala uses ERDAS Apollo the forest survey uses
ViA)  Arc IMS. (B) Liscad

(C) Skipro (D) Auto cad

Quomgmiisa (Mosaiciné) (Aplw  gamhismer @eamilananmiLSeT P  (LPLPELOWITET

UL BISMET 2 (Heurd@d (pap) Celieusn® Snps ape Quear@unmlser wHnb safl 2 MAenio

GoablunmLser dweae LweaTURSSUILGHAmDg. Cuer e BCwr ulefsiay Cayer,

Guremmenes ERDAS - y0iGunGer eramuens ) LwaTUR g dlamg. uryevl giGeu

& vwerL(sgidlemg.

(A) <& gm.enid.erenv. (Are IMS.) (B) | eSlevam (Liscad)

(C)  evdluGym (Skipro) (D) <y GLnGs_ (Auto cad)

Replacement of missing Thedolite station is the main duty of

\4A) Deputy Inspector of Survey
(B) Inspector of survey
(C) Maintenance Firka Surveyor

(D) Taluk Sub Inspector of Survey

AGulL SHCwm eal Hooubsmear BarGn S@wblug —— & Wsdul
uemflwm@Lo. |

(A) el ggimenr <y lieurart

B) pweumert

©)  ugmofliy Goeul L Sereu

(D) Gur'_l_l ST <, IeumaTiT

21 088/DD/19
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62. Hearing of original Land complaint is the main duty of

(A) Tahsildar . AB) Inspector of Survey

(C) Taluk Sub Inspector of Survey (D) Maintenance Firka Surveyor

Hab Gsmiurer o arewwrer graurssmer eferfiug ———— e psdwioren
vemfliim@Ld. |

A) elimidwur B) B ereve e

(C) el L g oplemert . D)  ugmoAdy Hle jereur

63. Length of commonly used metric chains are

A) 10m A 20m

(C) 30m (D) 40m

Qurg uujahu@‘ajs;&,uu@m Qo Mé i edlul e Berd
@ 108 B) 2018

(C) 305 , (D) 40

64. In aclosed traverse of ‘N’ sides, the sum of internal angles should be
(A) 2nx90° (B) (2n+4) x 90°
\40) (2n —4) x 90° (D) 2n

“N” ussrusaer QamarTL @ WigeyHD g JTauiedle), 2 dreTaions Canammsafen s.(Hge
A) 2nx90° ' (B)- (2n + 4) x 90°.

(C) (2n-—4)x90° (D) 2n

088/DD/19 ' 22



65.

66.

67.

In selecting the station, while surveying an area, adjacent station should be
WA) Intervisible : (B) Far away
(C) Inwvisible : (D) Uninvisible
em urllGeear oemeres Gewwd Curg, Haownsoma CsiblsOssdle 65055
flevewimsar ——— @(m&s Cauarm(HLb.
Q) gapstaran Qsflyb eumsuia (B) Qeu@gnrgdle
I(C) LDENMHEUMTS G)(H&EGLom) D) wenpwrwe Cgfluyb euamsullecs
Before starting survey ————— is prepared and marked.
(A) Index map \4B) Location sketch
(C) Town map : (D) Topographical map
Hle jarencu Gawiw %Umﬁg@m@mum —————— swni Qalg @GNl Ceuam(Hib.
(A) =il Leument cuanyuLLD ; (B) @mulL suenguL b
(C) mayeuemnyuLLD (D) dvse ey euaFLLLD
Difference between the Actual area and Registered Area of the entire survey field

does not exceeds 5% -
(A) Alteration should be made in Registered Area

\AB) No Alteration should be made in the Registered Area

(C) Alteration should be made in Actual Area
(D) The actual area should be followed

M P osdear e arewwrear urudpen, udey Qelwiul L urubnEn e Cuwrer
s wmed SK&@ET @) (HbSmen

A)  uwdey Qaunwtiu L ugin9e Hmssd Qe Cauam(id

B)  ufey Qewwiiu L urtueTelear Hmesid Ceuaia wifdana

(C) e amanwwner uyliGemer Hhss Couamm(HLd

D) 2 awenwwrer uFluetelenas Serunmn GeuesT(HbD

23 088/DD/19
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68. Inrespect of files received for final scrutiny it is important that

@)
)

©
(D)

The subdivision statement should be attached
Certificate of incorporation should be attached in the file

The award passing order should be attached
VAO’s Report

Qnidls sapmielnars Gamiyser Gupliu@ib Gurg, Spsar_suniled erg p&dwwbreang

(A)
®)
(©)

D)

2 _Gfley @dlGans @aneamasiul g (hés Coueir(Hibd

wrpge delieugnarer sramdlsy CamiLer @aamssiiul g (hés Cauebr(Hid
QuulSi® Gsrams @wissiulL e (Award passing  order)
@ eenssliul g més GCeuam(Hid

&lymo Blireuns ojeeuaT MHléms

69. In Nilgiris District, the survey work cannot done by chain and cross staff the

maintenance field surveyor should make arrangement for angular survey and issue

notice to ryots through

(A)
(B)
0O
D)

The Tashildar _

The Deputy Inspector of Survey
The Village Administrative Officer
Deputy Tahsildar

Badfl wreul LsHe, Mo amals uaiomw, shded whnb QemGsra s Gasrrs&uT(BA

Qe @uiengsme, ugrofliy Ble ereum, Caram e CQFuusHETaT FHUTHEMET

Qsiig Qsman(, 2gnerar Meliilemer Hloe L mwsnisEhsE —e ped

Sigli Cauarm(Hib.

(A)
B)
(©)
(D)

088/DD/19

eulLmwir
QUL L &8)60emT <y, LIGUTEITIT

&lymo flireurs Sieeuei

glewamr eul_LmSwir
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70.  The full responsibility of the scrutiny of Sub Division records is
(A) The Assistant Director (B) The Inspector of Survey
AC) Deputy Inspector of Survey (D) Taluk Sub Inspector of Survey

2 U 9fley peuemmmsener sagmiiey Qedieudd U urmiliy @eiment wig
A) oz QuisEpiT B)  @yweunar

(C)  alLggmenr opieurari (D) el L emi yuieurers

71. All the new subdivision sanctioned by the Tahsildar should entered in

(A)  6(1) Register (B) IR Register
w10 8A Register (D) - 5 Register
QULLTLEwmed pULSE SefldstiulL iemargg o L 19MesEsh —a @Bl CiuL
Geuemr(HIb.
A)  6(1) uACaE : B) safsas GHuy uHGE
(C) 8A LAGeu(® D) 5 <yib erair LHGeu(®

72.  The first stage in all land acquisition process is
(A) The action post award passing
(B) Draft declaration
WC) Draft notification under section under the 4(1) of the Act
(D) Under sec 6 of the act 5A enquiry Act

Heo@uw@ iy uafluldn wed Hlaan ——— oy @ib.

Q) e SgwdiusdE phasw Leiser

B)  eare; GeuafllGB e

©) Aaa@iy e9d Gfley 4(1)ér & auanrey iMelienu Gleuafluli(Hge
D)  He a@iy a9 Gfley 5(A)er &L sec 6

25 088/DD/19
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73.  The subdivision work in LLA should commence only after the publication of

(A) Notification under section 4(1)
\AB) Notification under section 6(1)
(C) Notification under section 5 ~_

(D) Notification under section 9(1)

Gpagd Ceiis GemarGy, HlaoGu@uy uaflule o " Gfley G&ul;g;mw <, 7D&S
Ceuam(®ib. '
A) Gfley 4(1)-ar S siPlefliy QauafluH g
(B) - Wfley 6(1)-am & iflefliiy QeuafludBse
(C) Wfley 5-a &1 @ilefiliy CeuafuiHgew

(D) WGfley 9(1)-e E1p =yMlelliiy QeuafludBge

74. In Land Acquisition the permanent subdivision sketch are prepared for the purpose
of ‘ :

(A). Maintenance

WN\B) Incorporation of changes after award
(C) Award passing
(D) Sub division

Ba0i@uuddr Cuns Aybsy 2 19fley auenyuLib swimt Qslauder Goasid
Q)  upmofcussts

B)  @uuSe w@iws Qaisdern wipprisoe Lfe) AriasHsTs

©) Quuli® <ewd QslesHans

D) - 2..90e) Qsicugpans
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75.  The stocks of the numbers of stones in balance and value of stones at cost price on

the
(A)

- ®
wAC)

D)

months of every year.
31st March and 31st July
315t March and 315t August
315t March and 30th September

30th September and 30t November

geullaumm eumL et ———— wnghiseie, @&Wlmube Bsuperer speefer erawrenisms

pmid eupBlen Qamerpsa elenauden whHliy @pduanamn GNE5 weuss Ceuanr(hLb.

(A)
(B)
©

D)

" 76,

v

(®)

wré 31 wHmib LOamen 31
& 31 wHmib <ysevl 31
Lomité 31 whgyd QetiL_ibLit 30

Qa1 b 30 whmith paubLir 30

1s Account Officers register of bills received for collection.
Register A (Form XIV) (B) Register B (Form XV)

Register C (Form VIIIA) (D) Register D (Form VIIIB)

T LI aUGOSEHESTAT L iqWhss GNlss saaidamen udley Gi&u'J-qub

&em1d G g eueiflen LIS Ceu @b

(A)

©

udlGau@® A (Ligeud XIV) B) udCeu® B (Ugeud XV)

LBGa(® C (Ligeuid VIIIA) (D) LHCa® D (Lgeud VIIIB)

.27 088/DD/19
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77. The angle between the line and meridian is called

(A) Distance VB) Bearing

(C) Sums (D) Drientation

Camliyn@Lb Qofligueysen Qe uul L Caranmd ———— erariu@id.

@A)  gmmo B) Gul

(C) ez (D) wMwenGLser (Drientation)
78. ———— Surveying is also know as triangulation.

(A) Cadastral - (B) Street

© Geo VD) Chain

Sjeraney, (W&CamamnsGse (triangulation) ereneib iepssiLBElems.
(&) &Gy B) Gz
©€)  yell (D) smde

79, G TS Bench mark are establishment by
A(A) Survey of India
| (B) Public works department
(C) National highways
(D) Chain Highways

Caflw Camemr ;_ﬂw@u mger (G.T.S) wryred gHuBSSILLL 6r?
A)  @pHu o seroass geop '
B) Qurgiiiuafisgenn

C€) Csolu ApGEseTans 6D

(D) wrfle Ar@HEseTmas s

088/DD/19 28



80.

s &k,

The average height of the sea of all stages of the tides is called as the
(A) Reduced level
(B) Bench mark
\40) Mean sea level
(D) Level Surface
SL_a) am@&mﬂ@ Siensg 64 Hlenevuflerer symal 2 wiglh —————— eremiuib.
(A EopssuULL LD
(B) Quewé wonmms (Bench mark)
(C) &gmef sL6v L LD
(D)  swwrer Copuyiiy
When the difference between actual area and the register area differs more than 5
.percent ——— 1is permissible.
(A) Temporary
(B) Permanent Adjustment
‘40) Actual area should be adopted

D)

The registered area should be adopted

2 amenwwirer LUFLbDEW, udley Geuwiul urtldnEn Qe Cuwrer lsdHwumsn 5%

5561558 0E Cd QMmsE0CLng ———e Sigdsseb.
(A)I FHNSTEHLONS DN

(B) Brssons shés’ L

(C) e amemwwrer uglienu arH5gI6 QaeaTeug

D)

udley Celwtiut L urlenu ar(H&ss Qsmereus
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82. The recomputed areas of revenue field if less thaln 10 areas in extent shall not be

adopted in the account, if he difference of recorded and recomputed area are more

than
(A) 0.5 are ‘4B) 1 are
(C) 2are : (D) 3are
S QUBHAITL Lads e udley Gelnutiul L wpmib oy seflésiul L upluneg ——— o

el iglaons QmBSTe @ aumeu Lasdler o safldsiur L gy 10 TTES GMDeUTs
QmoHsTe Sws sarsdle) eTHEHISQEMETaTEsRLTS).

(A) 05grr ! B) 1gn
(C). 2gr D) 3agr
83. Maps may be scanned and also information stored in ————— and can be

retrieved, with query commands to the computerized database.

‘(A) Ward form

VAB) Digital Form

(C) Numerous form

(D) _Data form

aueguLmsaT avGsar Geuwiiul (), @qm@@@mmlgmmamm — 5 Calsg
@auEs Wb wHmb Supen saflefl wuLTEsILLL ssaud QsrEulDE ofams
sl L earseer (Query commands) Qar@liugen eapab, Sims ssadsas Bar@n Qup
wgyd.

S EAY QUITT(H Gulg GuULD
B) L6 eugaud
(€) eramenfiue 6U1q.6ULD

D) sreyaugqeud
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84. The method of calculation of areas in the Khasra system was to multiply the mean
of the —————— measurements by the mean of those East and west

(A) East and south _ (B) North and west
\AC) North and south (D) East and west

&&T papuded LTly seflé@n wWapwrans ——— seraysafian ermefanu, 26U Ml edr
SlpéE Cune ussnselen syref siarayar QumdEeaIs) DG LD.

A)  dpse whgb OsHe B) eLs@ wpmib CuopeE

(C) e & wimb AspE D) fpée wpnd Cobe

85. The ————— is a Satellite navigation system that allows users to accurately
determine their location anywhere on Earth

(A) GIS System ) \AB) Global positioning system
(C) GTS System . (D) ETS System

erang) ewpasGarer apad GovUbin sifluyn weapufar apaib R 333
ThgGleurm @ sdleenyb g LwanTaTi g@edwinre Qs fbg CQamerer 2 sadms.
(A)  g.g.arav apevm (GIS) B) @rsdean Biawrudsgo wen (GPS)
©)  g.aed pep (GTS) D) @..reh apenp (ETS)

86. GPS position of any place, object or point can be represented by means of 1ts
co-ordinates.

(A) Metrological (B) Historical
(C) Meridian '4D) Geographical

apgLleury @Lib, Qurmer Siwes Ldefular el afleugoneng), euelgdler
21&a gymseer (Co-ordinates) Quimss) GHlésiiu CEEUE

Q)  serefue B) augerplued

(C) Qufligwer D) yeNuAwed
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87.  Offsets are
(A) Chain linear out of alignment
..43) Small measurement from chain line
(C) Measurement taken in chain surveying
(D) Chain distance

Gagara] (Offsets) eremig
A)  emdlal seradledl(mbs) ;;ﬁ]eua%]uﬁ@uug,_;
- B) smdldl maalldmig er@sstiLBb APl sare
(C) smdlel sarancuiie er(H&SLILIHLD HeTe]
(D) smdlel eray

88. The chain length of standard metric chain is

(A) 10m - vB) 20m
(C) 25m (D) 40 m
Hleveowimar Quor Mé sridlefen Bemd ———— 2y @id.

(A) 1018 (B) 208
©) 258 (D) 408

89. If a chain is found too short on testing it can be adjusted by
(A) Straightening the links
“B) Inserting additional circular rings
(C) Flattening the circular rings
(D) Imerting additional links

srdledlulen Bard Wlsea|b @Gemmeuns @@uu;e_f,rras CorgenanienCung searrL_ MUl LT g
Qeueurn &M QewiuGHeamgi.

A)  dlisdlamer CrIms@E ST epaLd

(B)  a@Bsans el L euamemumisenar CamILgem ppeoLd

(C) el cuameTmkismer S L WLINEEGUSET APaLD

D)  s@sons SrGsmer @aarriiudlern apald
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90. Where can we obtain the co-ordinates of Urban Survey Marks as we see on the
streets? .
(A) Post office \AB) District Survey Office
(C)  Municipal Office (D) Central Survey Office
Glgmasetidr prb sramid BT Seramea Ghlselear =iés sirisamar (co-ordinates of Urban
Survey Marks) mmb eriuGs Qup @piguih?
(A)  sure flaewd B) wralL flo sierme Sigeosh
©C) syl él si@euashd (D) widw e yeraner Di@IaIREHLD

91. Any new field formed in a village should be numbered in continuation of the

of the village
(A) First Survey number (B) Middle survey number
NA(C) Last Survey number (D) Second Survey number

@m drmogder LA LasHmear Siewwés Lo aarmen QsmiiEdurs QardéagnEung
2G5 lgmogdlen ——— mpg 2LribiNés Geuetr(Hib.
A) s s1Geu ereRr (B) sl (miag srCa eresr
(C) sen_& g1Geu eramr (D) @rawreug stGeu eremr

92. In maintenance the Deputy inspector of Survey should obtain the extract of the

original survey angles and distances for the missing village trijunction stations from
(A) . Taluk Office \4B) Central Survey office
(C) Register office (D) Head office of the district

R L gGlenawt peureri Lgmofliy uenflufer Cung g Srmwsde sraumoe Curar aper

epdl Hloowsder Caremid LHMD eTajsmar ———— QeSS HO MBS QU
Cauam(pid. '
A)  alL sgeuesd (B) wsdluw Hle siereneu SigieuasDd
(C)  udeumeri igieuED | (D) wreul L gamaenin H@ieuOsLD
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93. How many links in 30 metre chain?
(A) 100 : ' ‘AB) 150
(C) 200 Dy, 2es

30 1 sridlefludler eTgsenan ellmiGsar 2 dreng)

(A) 100 (B) 150
(C) 200 (D) 225
94. Theodalite stone are in —————— Measlrement.
(A) C.S.M. (B) \/IB) 90cm x 22.5 cm x 22.5 cm
(C) Town Survey (D) WGS 84
Caremrionafl sphaeeT ————— ojerelile) @QHEELD.
Q) S.erev.erid.(19) (B) - 90 Qg.8 x 22.5 Q&8 x 22.5 Qg.18
(C) parearenau ‘ (D) WGS 84

95. Town Survey Blocks
\AA) Close, Medium, Open
(B) Tank, River, Rock Mark ,etc I
(C) Dry, Wet, Poramboke
(D) Field Measurement Book

BaTeTenel eTrd@Gsar ol DDP&SLIL(HID
(A)  Opméswrer, BHSsTLET SoHsCeuef]

B) . Yy, urEDéEEH s wer

(©)  yers, Beremes, UpbCumée

D) yeuwL LS&&LD
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96.  In a right angle triangle the angle between opposite side and hypotenuse side is

\4A) Cosine (B) Sine
(C) Tangent (D) Cosigant

@@ CemGoranr wsGsreamsda, adli LEsD WLHMD sienssnG @l Cuwner Gsmenrbd

24 (GLD.
(A) Qsmensen (B) engen
(C) Lnenggam D) Csrésem

97. 100 Hectare is ——— sq. Km

"(A)  20Km (B) 2sqkm
\40) 1sq.km ' ‘(D) 0.5km
100 QapaGLt LuueTey Camen g ———— sgiy SGam UL it @b
(A) 20 &Ceom B Lir (B) - 2 sguy HGeom Bt
(©) 1 szirdCoorm 15U L (D) 0.5 §Gem SL_Lir

98.  In 20 Meter chain, a prong will be fixed at the ———— meter.
WA) Every 5th meter (B) Every 3rd meter

(C) Every 2nd meter : (D) Every 1 meter

@@ 20 B i sradlallufier ————é) 9gs5@me efdrena QurSSILIL I (HESELD.
A)  gGeurm 5-cug B LT B)  geuQeurm 3-eug BT

(C)  geuQeumm 2-eug B Lir D) geuGeunas 1-cug B L
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99.  While Surveying in D & O System the offset measurement should not exceeds
(A) 10 meter
(B) 50 meter
AC) 100 meter
(D) 150 meter

@M @Lsms epoma &l L whmb Gisera| apapuier 6iGa Galyb Curg Gssereureas)

&G LOSTLO @) 1héHs Ceuem(Bib.
(A) 1080w
(B) 50dCL

+ (C) 100w

(D) 150 8L

100. . The Survey and Boundaries Act should be followed in
(A) Sub-division effecting patta ﬁeid
(B) Aite_ration of existing sub-division boundary
C) Area alteration effecting sub division

(
‘4D) Sub-division effecting promboke boundaries
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